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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

Fierce winds and deadly waves were only one
Columbus confronted when sailing to unknown lands.

---— many explorers like Christopher

|) suspension 2) obstacle 3) shortage 4) variation

In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ------------ - to find new supplics.

1) discouraging 2) refusing 3) invading 4) struggling

The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This —=—eeeeeeeeee- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

True, all economic activities have enviroamental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --—eeeeeee- ---- ¢ffects on the environment as
much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary

Like most successful politicians, she is pertinacious and single-minded in the —----eeeveeeeee
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
Knowing that everyone would ------eeeeew--- after graduation, she was worried that she
would not see her friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge

Certain mental functions slow down with age, but the brain -------—---—- in ways that can
keep seniors just as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes

It is argued by some that hypnosis is an effective intervention for -------—---—-- pain from
cancer and other chronic conditions.

1) displacing 2) alleviating 3) exploring 4) hiding

Children who get —----eeeeeee- -- atmosphere at home for studies perform better than

students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional
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10- The post office has promised to resume first class mail —--——--m-- --to the area on
Friday.
1) attention 2) progress 3) expression 4) delivery

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) ~—=—=m=em=—- 1970, she
completed her first performance with Hommage a Delacroix, (12) was
the beginning of an artistic career (13) ----==-s--=—--= to the oneness of art and life.
(14) -----==---—----_ actions and performances on streets and public squares. followed by
her "living environments” and the "windows". (15) ~===emmemm- - in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) thatit 2) which 3) that 4)it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with 4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

| PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

There are two types of agricultural crop residues. Field residues are materials left in an
agricultural field or orchard after the crop has been harvested. These residues include
stalks and stubble (stems). leaves. and seed pods. The residue can be ploughed directly
into the ground, orbumed first. Good management of field residues can increase
efficiency of irrigation and control of erosion. Process residues are materials left after the
crop is processed into a usable resource. These residues include husks.
seeds. bagasse, molasses and roots. They can be used as animal fodder and soil
amendment, fertilizers and in manufacturing. Nutrients in most crop residue are not
immediately available for crop use. Their release (called generalization) occurs over a
period of years. The biological processes involved in soil nutrient cycles are complex. As
a rough guide, cereal straw releases about 10 to 15 per cent of its nutrients and pea
residues release about 35 percent of their nutrients by the next year. The speed of
generalization depends on the nitrogen and lignin content., soil moisture, temperature, and
degree of mixing with the soil. N is released fairly quickly from residue when the content
is higher than 1.5 per cent. In contrast, below 1.2 per cent. soil-available N is fixed (called
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17-

18-

19-

20-

immobilization) by the microbes as they decompose the residue. Thus pea residue would
have short- and long-term benefits to soil fertility, whereas cereal straw would reduce next
year's soil supply of available nutrients. Over time. the nutrients fixed by soil microbes
and humus are released and available to crops. Nutrients from residue are not fully
recovered by crops. Just like fertilizer nutrients, nutrients released from crop residue into
the soil are susceptible to losses such as leaching, denitrification, immobilization, and
fixation.

It is stated in the passage that —--—--eeeeuev >

1) process residues are the materials collected from crop processing
2) pea residue has over seven short-term benefits to soil fertility
3) soil-available N is fixed by | per cent of soil’s microorganisms
4) generalization occurs faster in pea residues than cereal straw
The passage points to the fact that ——---——-eeeeev A

1) seed pods are among field residues

2) crop use depends heavily on crop residue

3) husks have very little nutritive value

4) microbes fix the soil’s needed humus

According to the passage, —=---eseeeeeee,

1) process residue denitrification happens very quickly

2) fertilizer nutrients are not immune to immobilization

3) orchard residues release far more N than field residues

4) field residues cannot be ploughed directly into the ground

We understand from the passage that ——-—-eeeeuce,

1) soil’s lignin content is an index of its moisture

2) field residue lowers the efficiency of irrigation

3) animal fodder is often used for soil amendment

4) processes involved in nutrient cycles are simple

The word *stubble’ in the passage (underlined) is closest (0 —=--ememeaeaee,
1) ‘root’ 2) *branch’ 3) ‘straw’ 4) ‘trunk’
PASSAGE 2:

An epicormic shoot is a shoot growing from an epicormic bud. which lies underneath
the bark of a trunk. stem. or branch of a plant. Epicormic buds lie dormant beneath the
bark. their growth suppressed by hormones from active shoots higher up the plant.
Under certain conditions, they develop into active shoots, such as when damage occurs
to higher parts of the plant. or light levels are increased following removal of nearby
plants. Epicormic buds and shoots occur in many woody species. but are absent from
many others, such as most conifers. Human horticultural practices that exploit
epicormic growth rely on plants that have epicormic budding capabilities for
regenerative function in response to crown damage, such as through wind or fire.
Epicormic shoots are the means by which trees regrow afiter coppicing or
pollarding, where the tree's trunk or branches are cut back on a regular cycle. Pruning
leads to growth of suppressed shoots below the cut — these may be from epicormic
buds, but they may also be other growth, such as normal buds or small shoots which
are only partly suppressed. As one of their responses to frequent bushfires which
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25-

would destroy most other plants. many Eucalypt trees found widely throughout
Australia have extensive epicormic buds which sprout following a fire. allowing the
vegetative regeneration of branches from their trunks. These epicormic buds are highly
protected, set deeper beneath the thick bark than in other tree species, allowing both
the buds and vascular cambium to be insulated from the intense heat. Jarrah trees,
found in the south-west of Western Australia, have epicormic buds which are activated
after extreme conditions.

It is stated in the passage that —--——--—eeeeunv x

1) the suppressed shoots below a cut do not grow well

2) conifers do not generally have any epicormic buds

3) a tree's branches are regularly cut back in pruning

4) crown damage has a major regenerative function

According to the passage, -----sseeeeeee .

1) Jarrah tree epicormic buds get active only after extreme conditions
2) epicormic buds are set above the thick bark in several tree species

3) shoots that grow from a dormant bud lie above the bark of a trunk

4) buds and shoots are often partly suppressed for later regeneration
The passage points to the fact that -——-eeececeeeee,

1) Eucalypt trees can regrow after a fire through their epicormic buds
2) epicormic buds suppress the growth of hormones higher up the plant
3) epicormic shoots occur mostly in perennial woody species of Australia
4) a fire speed up the vegetative regeneration of branches from their trunks
The passage mentions that ——--—eeeeeeee,

1) trees in south-west of Western Australia have epicormic buds

2) removal of nearby plants lets more light fall on existing trees

3) pollarding is usually done after a major event such a bush fire

4) without epicormic shoots trees will not regrow after coppicing

The word *exploit’ in the passage (underlined) is closest to ~——--—eceeeeev,
1) *set’ 2) *lie’ 3) “use’ 4) ‘let’

PASSAGE 3:

Lavering has evolved as a common means of vegetative propagation of numerous
species in natural environments. Layering is also utilized by horticulturists to
propagate desirable plants. Natural layering typically occurs when a branch touches
the ground, whereupon it produces adventitious roots. At a later stage the connection
with the parent plant is severed and a new plant is produced as a result. As layering
does not involve sexual reproduction, new plants are effectively clones of the original
plant and will exhibit the same characteristics. This includes flower, fruit and foliage.
Plant selection usually involves plants with a flexible stem. Simple layering can be
more attractive when managing a cascading or spreading plant. These plants tend to
propagate in this manner anyway, and potting a new limb will give extra plants
without having to sow new seed. Simple layering can also help when a plant has
overgrown its pot and is drooping over the side. The long stem is layered into another
pot until it roots, thus bringing it back to soil level. Ground layering or mound layering
is the typical propagation technique for clonal apple rootstocks, in which the original
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plants are set in the ground with the stem nearly horizontal, which forces side buds to
grow upward. After these are started, the original stem is buried up to some distance
from the tip. At the end of the growing season, the side branches will have rooted. and
can be separated while the plant is dormant. Some of these will be used
for grafting rootstocks, and some can be reused in the nursery for the next growing
season's crop. Ground layering is used in the formation of visible surface roots, known
as "nebari". on bonsai trees.

According to the passage, --—----==-eeuv,

1) in layering the new and the original plant are exactly similar

2) simple layering causes the plant to overgrow its pot and droop
3) side buds of the original stem should be buried to grow upward
4) long stems are layered vertically into another pot until they root
The passage mentions that ——---eeeeeeeeee,

1) adventitious roots form above ground

2) bonsai trees have visible surface roots

3) layering rarely involves sexual reproduction

4) dormant and active stems root at the same speed

The passage mentions that —-
1) spreading plants includes several species of flower, fruit and foliage

2) grafting rootstocks can be reused for the next growing season's crop

3) it is unnecessary to sow new seed for propagating cascading plants

4) apple rootstocks are sometimes propagated through ground layering
The word ‘these’ in the passage (underlined) refers to -—-—-eeeeeeee,

1) *dormant plants’ 2) "rootstocks’

3) original plants’ 4) “side branches’

The word ‘sever’ in the passage (underiincd) is closest (0 —-=-eeeeeeeeaee,

1) “stop’ 2) “slow’ 3) “cut’ 4) *block’
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